MOJOTONE TWEED PRINCETON WIRING DIAGRAM

1 AMP. FUSE ON / OFF LIGHT

)

)

#8 GROUND TAB / #8 GROUN AB
PT MOUNTING STU? PT MOUNTIN TUD

R E—

=
—

[ T T T T T T T T
P

INSULATE

MOJO760EX \ MOJO771
POWER TRANSFORMER OUTPUT TRANSFORMER

AN \ 4
. D . INSULATE
50 S s 7

5Y3 6Vé6 SPEAKER

2 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKET
4 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS
6 QTY 4-40 KEPS NUTS

2 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARD

2 QTY 6-32 KEPS NUTS

2 QTY 8-32 X 1/4" SCREWS FOR OUTPUT TRANSFORMER
6 QTY 8-32 KEPS NUTS FOR TRANSFORMERS

2 QTY 10-32 X 1 1/2" SCREWS FOR CHASSIS

2 QTY 10-32 KEPS NUTS

12AX7

mnﬂn 5F2A TWEED PRINCETON
REVISION 4

R =] 6/29/2022




